OMB Control No. 0579-0007

								0579-0007	
Form No. or Other Identification		Total Annual Responses	Avg. Time Per Responses	Total Hours Per Year	Persons Involved in the Information Collection*		Program Costs	Overhead Costs	Total Costs
		'		(B x C)		Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)
	(A)	(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)
	Memorandum of Understanding	49	0.16	8		\$56.01	\$448	\$62	\$510
	Memorandum of Understanding	49	0.33	16	9	\$27.48	\$440	\$61	\$501
	VS 9-2	114,564	0.16	18,330	14	\$56.01	\$1,026,677	\$142,708	\$1,169,385
	VS 9-3	16,002	0.25	4,001	14	\$56.01	\$224,068	\$1	\$224,069
	VS 9-4	384	4.00	1,540	14	\$56.01	\$86,255	\$11,990	\$98,245
	VS 9-5	290	1.00	290	14	\$56.01	\$16,243	\$2,258	\$18,501
	VS 9-6	988	1.00	988	14	\$56.01	\$55,338	\$7,692	\$63,030
	VS 9-7	49	2.00	98	14	\$56.01	\$5,489	\$763	\$6,252
	VS 9-8	150	0.20	30	14	\$56.01	\$1,680	\$234	\$1,914
	VS 9-9	1,080	0.20	216	14	\$56.01	\$12,098	\$1,682	\$13,780
	Sentinel Birds Banded for Identification Prior to Flock Vaccination	175	1.00	175	14	\$56.01	\$9,802	\$1,362	\$11,164
	VS 10-3	5,904	0.16	945	14	\$56.01	\$52,909	\$7,354	\$60,264
	Printing and Mailing Computerized Printouts	10,000	0.03	330	14	\$56.01	\$18,483	\$2,569	\$21,052
	VS 1-23	1	1.00	1	14	\$56.01	\$56	\$8	\$64
	VS 1-23 A	1	1.00	1	14	\$56.01	\$56	\$8	\$64
				0			\$0	\$0	\$0
				0			\$0	\$0	\$0
				0			\$0	\$0	
				0			\$0	\$0	\$0
				0			\$0	\$0	
				0			\$0	\$0	\$0
				0			\$0	\$0	\$0
				0			\$0	\$0	\$0
				0			\$0	\$0	
				0			\$0	\$0	
				0			\$0	\$0	
				0			\$0	\$0	
				0			\$0	\$0	
				0			\$0	\$0	\$0
				0			\$0	\$0	\$0
				0			\$0	\$0	\$0
				0			\$0	\$0	
				0			\$0	\$0	\$0
Totals				26,968			\$1,510,042	\$178,752	\$1,688,794

National Poultry Improvement Plan

OMB Control No. 0579-0007

Form No. or Other Identification		Avg. Time Per Responses	Total Hours Per Year		Involved in the ion Collection*	Program Costs	Overhead Costs	Total Costs
			(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)
(A)	(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)

APHIS FORM 79

^{*}Includes field and headqarters personnel.

Remarks
(I)